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A3 ERE JelE S
3. EFHE 2,654 2,136 518 ;fé %gg—%zjg);jj st & 518,000
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PR ES IRtk 12,300 4,800 7,500
(ARA2F)AZ=2FHA 544 $2(F)
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ere © 30,0009 #504] 7H3%E 41 3] =
(BAEA2F) 2T =2FHL 5G| (8)
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1Az ARAF FEE ¢ 4,774,00090%13] =
2. 1A s AIZEA AL 21718],088 1,632 3,456
(B FH_25F) F A LA A AR 22 1]
1.2949 5,088 1,632 3,456 . 3,456,000
ere 1,728,000 %17 #23] =
3. 1Y 9 24,436 15,160 9,276
AEz 2= )EXA S ZIAlE <l
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1.[2]1=ATY 7,050 7,050 0
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3. A F 240 240 0
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2. ARG 13,574 13,574 0
1.[z]3 A Bt < 13,544 13,544 0
1. W8] 300 300 0

2. 2589 u| 9,104 9,104 O|ZHEEYTY : 1,360,0009%13] = 1,360,000
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6. H]F T4 H] 3,647 2,197 1,450 Zn) A H]3E 1 -150,000%13]= -150,000

&7 0 140,000 %13]= 140,000
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2. A7) 8F 38,604 38,604 0
3. EE 14,400 14,400 0
4. NEEELF 10,540 10,540 0
2. [Z]d8H] 303 303 0
1.8 303 303 0
3. [2MAAY LY 16,641 16,641 0
1. 4981 16,641 16,641 0
4. [Z]AE ke 23,585 23,695 -110
1.712A A Q1210 406 406 0
A8 2022 099 229 10A] 42% 26% 25 ABE WG A2 D 2S5



202281 A = A= of| AT A A]
AR 729 el A
At 34 | 14 | Ww R
NE71 ()
49w | An Avgs  gagqus | S Rt g
2. U481 23,179 23,289 —110[ A ARFE ¢ 2,890,0009)#13]= 2,890,000
2TFESAH] 1 -3,000,0009%13]= -3,000,000
5. (]334 e 1,000 1,000 0
1. k-89 1,000 1,000 0
6. (=132 &= 3,000 3,000 0
1. dRkp8n) 3,000 3,000 0
7. [z=]FEaE 500 500 0
1. dRkp8n) 500 500 0
8. [Z=]17An AN 28,786 28,786 0
L7 Al kA Q1 v 26,819 26,436 383|713 ¢ 303,00090+13]= 303,000
WAF7HE 1 300,000 %13]= 300,000
ZHEES5Y 1 -150,0009#13]= -150,000
A5 1 -220,0009#13]= -220,000
74l F ¢ 150,000 #13]= 150,000
2. 25 5] 550 550 0
3. A A AR AR TF 1,417 1,800 -383 /4R H 7 WFFF 1 -383,0009x13]= -383,000
9.[2]1971EA = 600 600 0
1. dnkpgn) 600 600 0
10. [2]H 29970 19,194 18,639 555
1.5 71 A kA 12171 H] 17,624 16,365 1,259 | &9 7|5 ¢ 525,000913]= 525,000
(ﬁ;é;%‘ﬁ_z—%)‘éi% ZIEF 175,000 %1 175,000
A F28 ¢ 60,00099%13])= 60,000
e WAF7] ¢ 100,0009013]= 100,000
gl%};;%)%i% WAEF7HE] 200,000 200,000
dad A4 0 -161,000913]= -161,000
;3?1_2@7&&% HAF 1 30,0001 30,000
dad HAF 1 30,0009%13]= 30,000
A 4714 E 1 150,000 #13]= 150,000
AeA 20229 099 229 104 428 26% 26 APEEZREHY AFHYREe
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20228 A = M=o AE AN

7.8 0 RS 3,000 3,000 0
1.du)n] 3,000 3,000 0

1. o u)u] 3,000 3,000 0
1.[Z]eln]n) 3,000 3,000 0

1. ofu)u] 3,000 3,000 0
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